Algebra 2 Worksheet Name: \MMB,
Section 8.3 - adding and subtracting Rational Expressions DAY 2 Period: __

1. Add or subtract. Then simplify if possible. Identify ANY x -values for which the ORIGINAL
expression is undefined.
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i Simplify. Assume that all expressions are defined.
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10. Given the graph, what type of
variation is it? (direct, inverse, or
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11. Given the graph, what type of
variation is it? (direct, inverse, or
neither)
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13. Given: y varies inversely as x,and y =3 when

x =4. Write and graph the inverse variation
function.
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14. Find the least common multiple for the
following.. x*—1 and S5x — Sx*
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15. Simplify. Assume all expressions are defined.
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